
SSC PUBLIC EXAMINATIONS 

MODEL PAPER_ III 

PHYSICAL SCIENCES 
CLASS : X (T.M)                                TIME : 2h 45Min. 

PARTS A &B                                      MAX. MARKS: 40 



 
Part – A 

Part – B 
Part –A
Part –A




Time : 2 Hrs       Part – A     Marks : 35 


  


 
 
 



HCl
Na

+ 




 


    – II                    6 X 2 = 12 

 


 
 
 




STP 

i1i2






        

     – III                                4 X 4 = 16 













 
  


 


i)        ii)


 
 




 


 








     
 Al2O3.2H2O HgS MgSO4.7H2O NaCl Fe2O3















  




 


 
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PART – B 

Time : 30 Minutes                Marks : 5 






CAPITALLETTERS



    

A)  B) C)  D) 
     

A)   B)  ∆  C)     D) 
      
 A) 
 B) 
 C)   D)  
4.          

A)  
B) 
C)  
D) 


   

A) 30
0
 - 35

0
  B)  40

0
 - 42

0
 C)  40

0  D) 42
0

       
 A) 1s

2
2s

2
2p

6 
B)  1s

2
2s

2
2p

6
3s

2
  C) 1s

2
2s

2
2p

3
 D) 1s

2
2s

2
     
 A)  Mg  B)  P  C) S  D)  Si
       

A)  BeCl2 B) BF3  C)  NH3 D) H2O 
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